M-Il C/S Jig & Wing Jig

3” square tube assembly, vertical posts
3” x 3/16” bar, bottom cross brace

2” x 2” x 3/16” angle, horizontal legs
misc. angle/bar, top cross brace

5" x 2” welded aluminum angle, main spar rest brkts
(must be drilled for threaded rod to hold to post)

5” x 2" welded aluminum angle, rear spar rest brkts
(must be drilled for threaded rod to hold to post)

2x2 aluminum angle, wing tip attach brkts

(drill to post, tap post for attachment 2x5/16” —18 bolts)
1’ OD aluminum tube, wing tip spacers

misc. angle/bar, backplate for threaded rod / angle
(must be drilled for threaded rod to hold to post)

3/8”-16 threaded leveler pads

3/8”-16 x 4.5” thd rod, alum angles to posts

3/8-16 nuts

3/8” flat washer

3/8”-16 x 1.25” hex bolts, legs and bottom cross brace to posts

5/16” —18x.75” hex bolts, wing tip attach brkts to posts

5\16” flat washer

10-24x3.5” round head machine screws, wing tip to angle attachment
10-24 nuts

#10 flat washers

2 pcs 77
1pcs 102.75”
2 pcs 267
1 pcs 107"
2 pcs 10"
2 pcs 5”
1 pcs 24"
2 pcs 3’
4 pcs 6.25”
Hardware:

4 pcs

8 pcs

22 pcs

22 pcs

6 pcs

2 pcs

2 pcs

2 pcs

2 pcs

4 pcs

(use 2 clamps per side on the top cross brace to keep from racking)



W \Er M Py 0 , \ ..,a.u.«,.x.; | .
{2 WM 75 sy .@/.S?q SN

Aup

_ . M
BuL  pex gx ¢ ~ @;./\ V

H
4

i

o
&

c\ﬂvﬁ

£

- —— - c—

/d + 1|||_ - - - ocml._o.ww oy

A .&X\x\ﬁ.ﬂ%’/

Ny

\




48.000

23.123 Wing
24,9375 Center Section

c4.

000

32.000
par Attach Angle

They will change for different Spar Attach Angle

106" Wing
1035 Center Section

These values for 3 Spar Attach Angle

widths



CenTmeve gsec;z?@
T eEeT-0f

\ 3 \ A . = .
2+ 4(, a‘:\&\( Nd le
. r post

Fees X



a8 :
o Wm— |
L Q[T

(B
| ¥

Hh
Ve -~
S ¢ g AT

Mustang Il Center Section in Jig



Clamp a :diagon'a'l brace ta prevent
_the jig from racking




This spacer board is cut to 25 5/16”
(hold) and goes between the forward
face of the CS rear spar and the aft
face of the CS main spar web. Use
one at each end and in the center
(three total)






